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Solved Examples

lLlet p(z) = z? — 2z — 3.Find (i) p(3) and (i) p( — 1).

What do you conclude?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_A7itSoiaVk0y

2. Find the zeros of the polynomial 2z + 5z — 12 and verify

the relationship between its zeros and coefficients.

o Watch Video Solution

3. Find zeroes of the polynormial 62% — 3 — 7z

A.azzéor:c:l.
2 3
B.xzéora::i.
2 3
C.:c:éorwzz.
2 3
D.:c:Eora:: —i
2 3
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_II0nLXlgcMmD
https://dl.doubtnut.com/l/_0R5cxNrNkUV0

4.Find the zeros of the polynomial f(z) = z* — 2 and verify

the relationship between its zeros and coefficients.

o Watch Video Solution

5. Obtain the zeros of the quadratic polynomial
V3z® — 8z + 4./3 and verify the relation between its zeros

and coefficients.

- 2
A.7,/3 and —.
VT

= 4
B.5y/3 and —.
V3

- 2
C.2y/3 and —.
V3

— 2
D.4,/5 and —.
V5

Answer: C


https://dl.doubtnut.com/l/_neSJr2rRNVVv
https://dl.doubtnut.com/l/_ASBOzg0SGYoU

° Watch Video Solution

6. Find a quadratic polynomial, the sum and product of

whose zeros are —5 and 6 respectively.

° Watch Video Solution

7. Find the quadratic polynomial, the sum of whose zeros is
v/2 and their product is —12. Hence, find the zeros of the

polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_ASBOzg0SGYoU
https://dl.doubtnut.com/l/_Ol61eGiKrF2B
https://dl.doubtnut.com/l/_uMMtoeBCdkLc

8. If the product of the zero of the polynomial

(aa:2 — 6x — 6) is 4. Find the value of a.

AT

2

B2

2

-3

2

p.— <

2
Answer: C

° Watch Video Solution

9. If one zero of the polynomial (a2 + 9):1:2 + 13z + 6a is

the reciprocal of the other, find a


https://dl.doubtnut.com/l/_RNXe1mAq7K9S
https://dl.doubtnut.com/l/_oyyVZsM9Bji2

B.a= —3

C.a=2

D.a =3
Answer: D

o Watch Video Solution

10. Find a quadratic polynomial whose zeros are 1 and —3.
Verify the relation between the coefficients and zeros of the

polynomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_oyyVZsM9Bji2
https://dl.doubtnut.com/l/_CwIoZva4Oadr

1
1. Verify that 3, — 1 and — 3 are the zeros of the cubic
polynomial p(z) = 3z®> — 52> — 11z — 3 and then verify

the relationship between the zeros and its coefficients.

o Watch Video Solution

12. Find a cubic polynomial with the sum, sum of the
products of its zeros taken two at a time, and product of its

zerosas 2, — 7, — l4respectively.

o Watch Video Solution

13. If the zeros of the polynomial f(z) = z° — 32z® + = + 1

area — b, a, a+b, findaandb.

. Y l


https://dl.doubtnut.com/l/_QM4pH1wRAMkf
https://dl.doubtnut.com/l/_oEAiIsFlXpZx
https://dl.doubtnut.com/l/_jOXOgUiy4Zy0

| W vvatch viaeo solution ]

14. Find a cubic polynomial whose zeros are 3, 3 and — 1.

o Watch Video Solution

15. Divide 3 — z + 2z® by (2x) and verify the division

algorithm.

° Watch Video Solution

16. Divide 5z° — 13z + 21z — 14 by (3 — 2z + 2°) and

verify the division algorithm.

o Watch Video Solution



https://dl.doubtnut.com/l/_jOXOgUiy4Zy0
https://dl.doubtnut.com/l/_jB469K9KkjUG
https://dl.doubtnut.com/l/_d3qshX5jI7oZ
https://dl.doubtnut.com/l/_akfvZDIzwJ03

17. What real number should be subtracted from the
polynomial (3z® + 10z> — 14z — 9) so that (3z —2)

divides it exactly?

o Watch Video Solution

18. If the polynomial (zc4 + 223 + 82% + 12z + 18) is
divided by another polynomial (332 +5), the remainder

comes out to be (px + q). Find the values of p and q.

o Watch Video Solution

19. On dividing (zv3 — 3z +x + 2) by a polynomial g(x), the
quotient and remainder are (z —2) and ( — 2z + 4)

respectively. Find g(x).


https://dl.doubtnut.com/l/_R9h46WJtsHkC
https://dl.doubtnut.com/l/_rhlWz6OaNYje
https://dl.doubtnut.com/l/_HrerSAhby9t4

° Watch Video Solution

20. It being given that 1 is a zero of the polynomial

(733 —x - 6),ﬁnd its other zeros.

A —2 and 2
B.—3 and 2
C.—1 and 2
D.—4 and 2
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HrerSAhby9t4
https://dl.doubtnut.com/l/_R6b3ubn5mbx7

21. Obtain all zeros of the polynomial (2333 — 4x — 2® + 2),

if two of its zeros are 1/2 and ( — V2.

o Watch Video Solution

22. If two zeros of the polynomial
(z* — 62® — 262° + 138z — 35)are (2+/3) and

(2 — 4/3), find other zeros.

o Watch Video Solution

23. Obtain other zeros of (33:4 — 1523 + 1322 + 252 — 30),

[5 5
if two of its zeros are 3 and — \/§

A 2,4


https://dl.doubtnut.com/l/_9SNDjO0zVfIB
https://dl.doubtnut.com/l/_0luiQMobRBPk
https://dl.doubtnut.com/l/_WFQq4YD2tVb3

B.2,3

C.3,4

D.2,6

Answer: B

o Watch Video Solution

1. Find the zeros of the following quadratic polynomials and

verify the relationship between the zeros and the

coefficients: 22 + 7z + 12

o Watch Video Solution



https://dl.doubtnut.com/l/_WFQq4YD2tVb3
https://dl.doubtnut.com/l/_1SVtwCfATg7r

2. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the

coefficients:

z2 — 2z — 8

o Watch Video Solution

3. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

22+ 3z — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_D0qBKXByzuQm
https://dl.doubtnut.com/l/_GrtgxMNYSwxA

4. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

Az — 4z — 3

o Watch Video Solution

5. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

5z — 4 — 8x

o Watch Video Solution



https://dl.doubtnut.com/l/_1Nn9b1gf99O9
https://dl.doubtnut.com/l/_XTOIDCd6sj8m

6. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the

coefficients:

2/3z> — 5z + /3

o Watch Video Solution

7.Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

222 — 11z + 15

o Watch Video Solution



https://dl.doubtnut.com/l/_9KouDeiGGZzc
https://dl.doubtnut.com/l/_V8Ccd57Aolhk

8. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

422 — 4z + 1

o Watch Video Solution

9.Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

2 -5

o Watch Video Solution



https://dl.doubtnut.com/l/_VXAFKtqSyMol
https://dl.doubtnut.com/l/_4VJ6gzxywKdn

10. Find the zeros of the following quadratic polynomials
and verify the relationship between the zeros and the

coefficients:

8z — 4

o Watch Video Solution

11. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

5y% + 10y

o Watch Video Solution



https://dl.doubtnut.com/l/_fJEc1b9Jjx8h
https://dl.doubtnut.com/l/_infiiPW82EfO

12. Find the zeros of the following quadratic polynomials and
verify the relationship between the zeros and the
coefficients:

322 —z — 4

o Watch Video Solution

13. Find the quadratic polynomial whose zeros are 2 and
-6.verify the relation between the coefficients and the zeros

of the polynomial.

o Watch Video Solution

14. Find the quadratic polynomial whose zeros are

2 -1
3 and o Verify the relation between the coefficients


https://dl.doubtnut.com/l/_HPZugX92I9e7
https://dl.doubtnut.com/l/_mO2wICyGhd4v
https://dl.doubtnut.com/l/_jRIGgFc24xR7

and the zeros of the polynomial.

o Watch Video Solution

15. Find the quadratic polynomial, sum of whose zeros is 8

and their product is 12. Hence, find the zeros of the

polynomial.

A. 6,2

B.5, 2

C.4,2

D.7, 2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jRIGgFc24xR7
https://dl.doubtnut.com/l/_pskRCDCzbkvX

16. Find the quadratic polynomial, the sum of whose zeros is
0 and their product is -1. Hence, find the zeros of the

polynomial.

o Watch Video Solution

17.Find the quadratic polynomial, the sum of whose zeros is

5
(§> and their product is 1. Hence, find the zeros of the

polynomial.

o Watch Video Solution

18. Find the quadratic polynomial, the sum of whose roots is

1
/2 and their product is 3

[ e~ S |


https://dl.doubtnut.com/l/_YJG7CKAvxjq4
https://dl.doubtnut.com/l/_Ej9mdv7pHPFz
https://dl.doubtnut.com/l/_7eZbxG3fF8rj

[ W Watch Video Solution ]

2
19. If x = 3 and x = — 3 are the roots of the quadratic

equation az? + 7z + b = 0 then find the values of a and b.

o Watch Video Solution

20. If x+a is a factor of 222 + 2azx + 5z —+ 10, find the value

of a.

o Watch Video Solution

21. One zero of the polynomial 3z® + 16z* + 15z — 18 is

2
3 Find the other zeroes of the polynomial.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_7eZbxG3fF8rj
https://dl.doubtnut.com/l/_3WhGrT818lC3
https://dl.doubtnut.com/l/_QAV7HewEzYTG
https://dl.doubtnut.com/l/_mZnDOsa7uat2

1. Verify that 3, — 2, 1 are the zeros of the cubic polynomial

p(z) = z° — 2z® — 5z + 6 and verify the relation between

its zeros and coefficient.

o Watch Video Solution

1
2. Verify that 5, — 2 and 7 are the zeros of the cubic
polynomial p(z) = 3z® — 102> — 27z + 10 and verify the

relation between its zeros and coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_mZnDOsa7uat2
https://dl.doubtnut.com/l/_E45ruf3A9jEv
https://dl.doubtnut.com/l/_6CNDyPIR51A2
https://dl.doubtnut.com/l/_uMxx43HacXAL

3. Find a cubic polynomial whose zeros are 2, — 3 and 4.

A z3 — 322 — 10z + 24

B.z3 — 3z%2 — 10z — 24

C.z% + 322 — 10z + 24

D.z2 — 322 + 10z + 24

Answer: A

o Watch Video Solution

4. Find a cubic polynomial whose zeros are 3 1 and — 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_uMxx43HacXAL
https://dl.doubtnut.com/l/_4tkz8HTr6pVE

5.Find a cubic polymial with the sum, sum of the product of
its zeros taken two at a time, and the product of its zeros as

5, — 2 and — 24 respectively.

o Watch Video Solution

6. Apply the division algorithm to find the quotient and
remainder on dividing f(z) = z® — 3z® + 5z — 3 by

g(z) = 2> — 2

o Watch Video Solution

7. Divide the polynomial p(z) = z* — 3z? + 42 + 5 by the

2

polynomial ¢g(z) =z —x +1 and find quotient and

remainder.


https://dl.doubtnut.com/l/_SwAweZ99tNnf
https://dl.doubtnut.com/l/_qWRouzatAVYe
https://dl.doubtnut.com/l/_5gCdZWBhPulM

° Watch Video Solution

8. Apply the division algorithm to find the quotient and
remainder on  dividing  f(z) =z* -5z +6 by

g(z) =2 -2

o Watch Video Solution

9.Find the quotient and the remainder when
By actual division , show that

z2 — 3 isafactor of 2z* + 3z% — 222 — 9z — 12.

o Watch Video Solution



https://dl.doubtnut.com/l/_5gCdZWBhPulM
https://dl.doubtnut.com/l/_Om0UJnpRN0gM
https://dl.doubtnut.com/l/_7Q7IcX4hgAZt

10. On dividing 3z + z? + 2z + 6 by a polynomial g(x), the
quotient and remainder are (3x-5) and (3x+21) respectively.

Find g(x).

o Watch Video Solution

1. Verify division algorithm for the polynomials

f(z) = 8+ 20z + z* — 62> and g(z) = 2 + 5z — 3z

o Watch Video Solution

12. Find the quotient and the remainder when
It is given that -1 is one of the zeros of the polynomial
z® + 22% — 11z — 12.

Find all the zeros of the given polynomial.


https://dl.doubtnut.com/l/_ALrBGI9LNj2j
https://dl.doubtnut.com/l/_1bEzlTjcynYJ
https://dl.doubtnut.com/l/_a7ltpKSD3Y4m

o Watch Video Solution

13. Find the quotient and the remainder when
If 1 and -2 are two zeros of the

(x?’ —4z% — Tr + 10),ﬁnd its third zero.

polynomial

o Watch Video Solution

14. Find the quotient and the remainder when

If 3 and —3 are two zeros of the

polynomial

(:c4 +2® — 112% — 9z + 18), find all the zeros of the given

polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_a7ltpKSD3Y4m
https://dl.doubtnut.com/l/_g6DNRXpski3f
https://dl.doubtnut.com/l/_UJFNX98rmCSQ
https://dl.doubtnut.com/l/_2bE07Qm1gghu

15. Find all the zeros of the polynomial

zt + 2% — 3422 — 42 + 120

o Watch Video Solution

16. Find the quotient and the remainder when
Find all the zeros of (:Jc4 + x3 — 232% — 3z + 60), if it is

given that two of its zeros are /3 and — /3.

o Watch Video Solution

17. Find the quotient and the remainder when
Find all the zeros of (2z* — 32° — 52® + 9z — 3), it being

given that two of its zeros are /3 and — /3.

o Watch Video Solution



https://dl.doubtnut.com/l/_2bE07Qm1gghu
https://dl.doubtnut.com/l/_udLjPLuKVSss
https://dl.doubtnut.com/l/_nCsdDG0qIOYY

18. Obtain all other zeros of z* + 4% — 222 — 20z — 15 if

two of its zeros are /5 and — /5

° Watch Video Solution

19. Find the quotient and the remainder when
Find all the zeros of the polynomial
(2:134 — 1123 + 7z + 13z — 7), it being given that two its

zeros are (3 + 4/2) and (3 —+/2).

o Watch Video Solution



https://dl.doubtnut.com/l/_nCsdDG0qIOYY
https://dl.doubtnut.com/l/_vhnOJ1f0GHsW
https://dl.doubtnut.com/l/_p0he7QeiJqWr
https://dl.doubtnut.com/l/_R6tWsIaIwFBI

1.If one zero of the polynomial z° — 4z + 1is 2 + /3 write

the other zero

o Watch Video Solution

2. Find the zeros of the polynomial z* 4+ 2 — p(p + 1).

° Watch Video Solution

3. Find the zeros of the polynomial 2> — 3z = m(m + 3).

o Watch Video Solution

4. If a, B are the zeros of the polynomial such that

a+ = —6and af = — 4,then write the polynomial.


https://dl.doubtnut.com/l/_R6tWsIaIwFBI
https://dl.doubtnut.com/l/_QKI1s2gIkXNt
https://dl.doubtnut.com/l/_hQCwLehTDks0
https://dl.doubtnut.com/l/_AReJPHS07aVH

° Watch Video Solution

5.1f one zero of the quadratic polynomial kz® + 3z + k is 2

then the value of k is

° Watch Video Solution

6.1f 3 is a zero of the polynomial 2z* + z + k, find the value

of k.

° Watch Video Solution

7.1f -4 is a zero of the polynomial z? — 2 — (2k + 2), then

find the value of k.


https://dl.doubtnut.com/l/_AReJPHS07aVH
https://dl.doubtnut.com/l/_ORsTM2Y7QTVa
https://dl.doubtnut.com/l/_a42wEHqE0rOt
https://dl.doubtnut.com/l/_vbhNGzp168T9

Ak=9

Bk= —9

Ck=2

D. None

Answer: A

o Watch Video Solution

8.1f 1is a zero of the polynomial az® — 3(a — 1)z — 1, then

find the value of a.

o Watch Video Solution



https://dl.doubtnut.com/l/_vbhNGzp168T9
https://dl.doubtnut.com/l/_1idZS7tQU8Qy

9.If -2 is a zero of the polynomial 322 + 4z + 2k then find

the value of k.

o Watch Video Solution

10. Write the zeros of the polynomial 2> — z — 6.

° Watch Video Solution

1. If the sum of the zeros of the quadratic polynomial

f(z) = kx® — 32z + 5is 1, write the value of k .

° Watch Video Solution



https://dl.doubtnut.com/l/_juGaOCuBkngF
https://dl.doubtnut.com/l/_4solUp2LW2Ia
https://dl.doubtnut.com/l/_7C5k2v3CEgPN

12. If the product of zeros of the quadratic polynomial

f(z) = 2* — 4z + ks 3, find the value of k .

o Watch Video Solution

13.1f (z + a) is a factor of 222 + 2ax + 5z + 10,find a .

° Watch Video Solution

14. If (a-b), a and (a+b) are zeros of the polynomial

2x3 — 622 + 5z — 7, write the value of a.

° Watch Video Solution



https://dl.doubtnut.com/l/_HiYtVL2ivkTY
https://dl.doubtnut.com/l/_BsFqydWpR0CQ
https://dl.doubtnut.com/l/_mLAIQyZQnoeY

15.If f(z) = > + 2® — az + b is divisible by z* — = write
the values of a and b.

Aa=2and —2

B.a=2and 0

Ca=0and —2

D.a =2 and — 3

Answer: B

o Watch Video Solution

16. If alpah and B are the zeros of the polynomial

222 + Tz + 5, write the value of & + 8 + af.

I o Watch Video Solution


https://dl.doubtnut.com/l/_aCCkpe8PCwfD
https://dl.doubtnut.com/l/_89SP21tWXeKN

17. State division algorithm for polynomials.

° Watch Video Solution

18. The sum and product of the zeros of a quadratic

polynomial are ) and —3 respectively. What is the

quadratic polynomial.

9 1
Ax+—x+3
2
B 2+1 3
. L — L —
7
C 2+1 3

D.a:2—§a:—3


https://dl.doubtnut.com/l/_89SP21tWXeKN
https://dl.doubtnut.com/l/_Lv3JwUv7bZsW
https://dl.doubtnut.com/l/_ua1y41HkNrMl

Answer: C

o Watch Video Solution

19. Find the zeros of the quadratic polynomial
f(z) = 6z> — 3, and verify the relation-ship between the

zeros and its coefficients:

o Watch Video Solution

20. Write zeros of the polynomial

p(z) = 4/3x* + 5z — 2,/3
-9 \/5
4

2 L

/3 1


https://dl.doubtnut.com/l/_ua1y41HkNrMl
https://dl.doubtnut.com/l/_iN51jd0h0AQ4
https://dl.doubtnut.com/l/_1NjrPowh4JkJ

o 22 B
L = 01'213—4

V3

D. None of the above

Answer: C

o Watch Video Solution

21. If a and B ar the zeros of the polynomial
f(z) = 2> — 5z + ksuch that a — 8 = 1, find the value of
k

A.6

B.5

C.4

D.3


https://dl.doubtnut.com/l/_1NjrPowh4JkJ
https://dl.doubtnut.com/l/_zahrmflb9U8x

Answer: A

° Watch Video Solution

22. If a and S are the zeros of the quadratic polynomial

f(z) = 6z + = — 2,find the value of% + g :
B
T 12
B, — 2
11
2
12

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zahrmflb9U8x
https://dl.doubtnut.com/l/_mCwWXFVdxRif
https://dl.doubtnut.com/l/_BGAvEj9MT27e

23. If o and 8 are the zeros of the polynomial

1 1
f(z) = 5z® — 7z + 1, find the value of (E + E)

o Watch Video Solution

24. If a and (8 are the zeros of the quadratic polynomial

f(z) = 4z —2,ﬁndtheva|ueof% —%
A2
3
B >
2
2
2
p. 2
3
Answer: B

| o Wiak~hh \tAAA CAaliikian


https://dl.doubtnut.com/l/_BGAvEj9MT27e
https://dl.doubtnut.com/l/_Z1Ir9p7DI04d

| € AAK-LAMI IR AL A\ Are LVAL"13LYA0] J

25. If the zeros of the polynomial f(z) = z° — 3z® + = + 1
area — b, a, a+b, findaandb.

Aa=1and b= +,/3

B.a=2and b= +,2

Ca=1and b=+2

D.a=1and b= ++/2

Answer: D

o Watch Video Solution

Multiple Choice Questions Mcq



https://dl.doubtnut.com/l/_Z1Ir9p7DI04d
https://dl.doubtnut.com/l/_DwIejC8gV06e
https://dl.doubtnut.com/l/_SJprR4N1fAW6

1. which one of the following is a polynomial ?

Az’ — 5z + 4T + 3

B.x3/2—x+x1/2—|—1

Answer: D

o Watch Video Solution

2. Which of the following is not a polynomial?

A /3z? — 2¢/3z + 5

B.9z% — 4z + /2


https://dl.doubtnut.com/l/_SJprR4N1fAW6
https://dl.doubtnut.com/l/_riaK9tqOjlXs

2 5 1
C.—zx"+6x"— —zx—8
2 ﬁ

3
D.z + —
T

Answer: D

o Watch Video Solution

3. The zeros of the polynomial z? — 2z — 3 are
A-31
B.—3, —1
c.3, —1

D.3,1

Answer: C

| o


https://dl.doubtnut.com/l/_riaK9tqOjlXs
https://dl.doubtnut.com/l/_dLM1akpaRRLN

l & Watch Video Solution

4. The zeros of the polynomial > — /22 — 12 are

A V2, — V2
B.3v2, — 22
C.—3v/2,2y2
D.3v/2, 24/2

Answer: B

o Watch Video Solution

5. The zeros of the polynomial 42> + 5v/2z — 3 are:


https://dl.doubtnut.com/l/_dLM1akpaRRLN
https://dl.doubtnut.com/l/_feZba5vXMk2W
https://dl.doubtnut.com/l/_ToPqrxkJrdDh

A —3v2,4/2
B.—3\/§,g
-3y2 V3

2 4

D. none of these

Answer: C

o Watch Video Solution

1
6. The zeros of the polynomial z* + e 2 are

A —3,4
, —3 4
273
-4 3
7372

D. none of these


https://dl.doubtnut.com/l/_ToPqrxkJrdDh
https://dl.doubtnut.com/l/_Ri15rxAU1uLM

Answer: B

° Watch Video Solution

, s 1lx 2
7.The zeros of the polynomial 7z* — — T g
2 —1
A. 3 T
-2 -1
B. 373
-2 1
C. 307

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ri15rxAU1uLM
https://dl.doubtnut.com/l/_jW9bnuoIR69Q

8. The sum and the product of the zeros of a quadratic
polynomial are 3 and — 10 respectively. The quadratic
polynomial is

Az’ — 3z + 10

B.z° + 3z — 10

C.z?> — 3z — 10

D.z2 + 3z + 10

Answer: C

° Watch Video Solution

9. A quadratic polynomial whose zeros are 5 and — 3,is


https://dl.doubtnut.com/l/_geJkgCRuwM84
https://dl.doubtnut.com/l/_ie4w3462imTI

Az2+ 2 — 15

B.z2 — 2z + 15

C.z? -2z — 15

D. none of these

Answer: C

o Watch Video Solution

3 —1
10. A quadratic polynomial whose zeros are 5 and 5 is
A 10z +z + 3
B.10z” + = — 3
C.10z> —z + 3

D.10z> — z — 3


https://dl.doubtnut.com/l/_ie4w3462imTI
https://dl.doubtnut.com/l/_P82JxDTUuZ8b

Answer: D

o Watch Video Solution

11. The zeros of the quadratic polynomial z* + 88z + 125
are

A. both positive

B. both negative

C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_P82JxDTUuZ8b
https://dl.doubtnut.com/l/_aCtW1AAekuMy
https://dl.doubtnut.com/l/_4mHSoVPjTVC0

12.Ifa. and S are the zeros of 22 + 5z + 8 then the value of

(a+B)is

A5

Answer: B

o Watch Video Solution

13.1f o and B are the zeros of 22% + 5z — 9 then the value

of af is


https://dl.doubtnut.com/l/_4mHSoVPjTVC0
https://dl.doubtnut.com/l/_XZUU9kN1kMpH

Answer: C

o Watch Video Solution

14. If one zero of the quadratic polynomial kz? + 3z + k is 2

then the value of k is


https://dl.doubtnut.com/l/_XZUU9kN1kMpH
https://dl.doubtnut.com/l/_L9WrRJpqhPvE

Answer: D

o Watch Video Solution

15. If one zero of the quadratic polynomial

(k—1z* 4 kz +1 is — 4then the value of kis



https://dl.doubtnut.com/l/_L9WrRJpqhPvE
https://dl.doubtnut.com/l/_SoK96g6OzJNM

{ ™ Vvvaldn vidco >0Iution )|

16. If —2 and 3 are the zeros of the quadratic polynomial

2 + (a + 1)z + bthen

Aa= —2,b=26

B.a=2,b= —6

Ca= —2,b= —6

D.a=2,b=6
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SoK96g6OzJNM
https://dl.doubtnut.com/l/_LR3pzMFvC6HT

17.1f one zero of 3z + 8z + k be the reciprocal of the other

then k=7

A3

Answer: A

° Watch Video Solution

18. If the sum of the zeros of the quadratic polynomial
kz? + 2z + 3k is equal to the product of its zeros then

k=7


https://dl.doubtnut.com/l/_o0IvF7Uh2bSj
https://dl.doubtnut.com/l/_mYcqGBfKaK2H

Answer: D

o Watch Video Solution

19. If «a,8 are the zeros of the polynomial

) 11
z°+6x+2 then | — 4+ =) =7
a f

A3
B. —3

C.12


https://dl.doubtnut.com/l/_mYcqGBfKaK2H
https://dl.doubtnut.com/l/_ZFicJSi9mblg

D. —12

Answer: B

o Watch Video Solution

20. If a,B,y are the zeros of the polynomial

23 — 62> — 2 4 30then (af + By + ya)=?

D.30

Answer: A



https://dl.doubtnut.com/l/_ZFicJSi9mblg
https://dl.doubtnut.com/l/_uIl5lbM3zeCW

{ ™ Vvvdaldn vidco >0Iution

2. If «a,B,7 are the zeros

2z° + 2% — 13z + 6 then afy=?

A —3

Answer: A

of

the

polynomial

° Watch Video Solution



https://dl.doubtnut.com/l/_uIl5lbM3zeCW
https://dl.doubtnut.com/l/_QyYLJepdF2Zi

22. If a, B, v be the zeros of the polynomial p(x) such that
(@+B+7) =3, (af+By+ya) = —10 and afy = — 24
then p(x) =7

Az’ + 3z° — 10z + 24

B.z° + 3x* + 10z — 24

C.x®— 322 — 10z +24

D. none of these

Answer: C

° Watch Video Solution

23. If two of the =zeros of the cubic polynomial

az’ + bx? + cx + d are O then the third zero is


https://dl.doubtnut.com/l/_xGiFQl9PHcFy
https://dl.doubtnut.com/l/_FancC3KwYwhG

Answer: A

o Watch Video Solution

24. If one of the zeroes of the cubic polynomial

az® + bx? + cx + d is zero, the product of the other two

zeroes is :



https://dl.doubtnut.com/l/_FancC3KwYwhG
https://dl.doubtnut.com/l/_1rgMoUooAyFb

Answer: B

o Watch Video Solution

25. If one of the zeroes of the cubic polynomial

23 + az® + bz + cis — Lthen find the product of other two

zeroes.
Aa—b-—1
B.b—a—1
C.l—a-+bd

D.1+a—0»


https://dl.doubtnut.com/l/_1rgMoUooAyFb
https://dl.doubtnut.com/l/_YlkkjYtl6ak4

Answer: C

° Watch Video Solution

26.If o, 3 be the zeros of the polynomial 222 + 5z + k such

21
that o® 4+ B2 + a8 = — thenk=?

A3

D.2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YlkkjYtl6ak4
https://dl.doubtnut.com/l/_TnxH0G8AxV1F
https://dl.doubtnut.com/l/_7holou92CQVu

27. On dividing a polynomial p(z) by a non-zero polynomial
q(z), let g(x) be the quotient and r(z) be the remainder
then = g(z) - g(z) + r(z), where

A.r(z) = 0 always

B.deg r(z) > deg gq(x) always

C.either r(z) = Oordeg r(x) < deg g(x)

Answer: C

o Watch Video Solution

28. Which of the following is a true statement ?


https://dl.doubtnut.com/l/_7holou92CQVu
https://dl.doubtnut.com/l/_Y9j0vFGoxlpi

A.z% 4+ 5z — 3is a linear polynomial.
B.z2 + 4z — 1is a binomial.
C.z + 1is a monomial.

D. 523 is a monomial.

Answer: D

o Watch Video Solution

Test Yourself

1.Zeros of p(z) = 2 — 2z — 3 are

Al —3

B.3, — 1


https://dl.doubtnut.com/l/_Y9j0vFGoxlpi
https://dl.doubtnut.com/l/_dOMep5Q33in6

c.—3, —1

D.1,3

Answer: B

o Watch Video Solution

2. If a,B8,7 are the zeros of the polynomial

2> — 62> — 2 4 30 then the value of (a8 + By + ya) is

A —1
B.1
C.—9

D.30


https://dl.doubtnut.com/l/_dOMep5Q33in6
https://dl.doubtnut.com/l/_N3Cv7C2hqhQE

Answer: A

° Watch Video Solution

3. If a, B are the zeros of kx? — 2z + 3k such that

a-+ B =afthenk =7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N3Cv7C2hqhQE
https://dl.doubtnut.com/l/_pvk2K6S5WpWX
https://dl.doubtnut.com/l/_BzxJ2YxUCJq4

4. It is given that the difference between the zeros of

4x% — 8kx + 9is4 and k > 0.Then, k=2

N
N ot N w N

O

Answer: C

o Watch Video Solution

5.Find the zeros of the polynomial 2 + 2z — 195.

° Watch Video Solution



https://dl.doubtnut.com/l/_BzxJ2YxUCJq4
https://dl.doubtnut.com/l/_vb0bx4ASx9Yp

6. 021 If one zero of the polynomial (a® + 9)z® + 13z + 6a

is the reciprocal of the other, find a

o Watch Video Solution

7.Find a quadratic polynomial whose zeros are 2 and -5.

° Watch Video Solution

8. If the zeros of the polynomial f(z) = z° — 32z% +z + 1

area — b, a, a+b, findaandb.

° Watch Video Solution



https://dl.doubtnut.com/l/_LgQx9C0CIRjh
https://dl.doubtnut.com/l/_Hzy0kqUM1Hjb
https://dl.doubtnut.com/l/_Gg7eYe19EdIK

9. Verify that 2 is a zero of the polynomial

z3 4+ 42% — 3z — 18.

o Watch Video Solution

10. Find a quadratic polynomial, the sum and product of

whose zeros are —5 and 6 respectively.

o Watch Video Solution

11. Find a cubic polynomial whose zeros are 3, 5 and -2.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZuWZch9S0lql
https://dl.doubtnut.com/l/_jb2KHAtd6Yv3
https://dl.doubtnut.com/l/_HIy7a68wz8Cu

12. Using remainder theorem, find the remainder when

p(z) = x> 4 32> — 5z + 4is divided by (x-2).

o Watch Video Solution

13. Show that (x+2) is a factor of

f(z) =2° +5= 42> + = — 6.

o Watch Video Solution

14. If «a,B,7 are the zeros of the polynomial

p(z) = 6z® +32> — 5z +1, find the value of
<1 N 1 N 1)
a B v)

A5


https://dl.doubtnut.com/l/_rMGWVXryMHOy
https://dl.doubtnut.com/l/_cWxTMahOeipo
https://dl.doubtnut.com/l/_gjOPtYgOhcWd

B.6

C.3

D.1

Answer: A

o Watch Video Solution

15. If o and [ are the zeros of the polynomial
f(z) = 2* — 5z + k such that a — 8 = 1, find the value of
k

Ak=0

B.k =6

Ck=3


https://dl.doubtnut.com/l/_gjOPtYgOhcWd
https://dl.doubtnut.com/l/_7dXjVPItwsBq

D.k =10

Answer: B

o Watch Video Solution

16. Show that the polynomial f(z) = z* + 42® + 6 has no

Zero.

o Watch Video Solution

17. If one zero of the polynomial

p(z) = 2> — 62 + 11z — 6 is 3, find the other two zeros.

o Watch Video Solution



https://dl.doubtnut.com/l/_7dXjVPItwsBq
https://dl.doubtnut.com/l/_vHSq5PpGo3TN
https://dl.doubtnut.com/l/_a5PW9zYa8Nj8
https://dl.doubtnut.com/l/_PP1rK2la5LlS

18. Find all the zeros of the polynomial

f(z) = 22* — 32% — 322 + 6z — 2, if two of its zeros are

Vv2and —+/2.
Al .
L5

3

3.3,£

2

V1

C.2, —
T2

V5

D.1, —
T2
Answer: A

o Watch Video Solution

19. Find the quotient when

p(z) = 3z* + 5x® — T2® + 22 + 2 is divided by


https://dl.doubtnut.com/l/_PP1rK2la5LlS
https://dl.doubtnut.com/l/_gZqoaa2PPln1

(z° + 3z +1).

o Watch Video Solution

20. If the remainder on division of z* 4 2z + kx + 3 by
x — 3 is 21, then find the quotient and the value of k. Hence,
find the zeroes of  the cubic polynomial

z2 + 222 + kx — 18.

Ak= —9
Bk= —9
Ck= —6
D.k= —5
Answer: B



https://dl.doubtnut.com/l/_gZqoaa2PPln1
https://dl.doubtnut.com/l/_2qu8EDlWdkIN
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https://dl.doubtnut.com/l/_2qu8EDlWdkIN

